flux

A? / 0.3165

A? / 0.3125
100

60

300

200

o, 164 km/s

Fe2 + Continuum Fit

Opep 709 +/— 165 km/s
T I T T T . I T T

2
X /4589 =

0.3165

Imwm‘w-:

2000

2500

3000 3500

Fe2 Dispersion (km/s)

4000 4500
Rest A (&)
Fe2 Scale Factor x2 Diagnosis
o, 164 km/s 0.01245(24) X2min / 4589 = 0.3165
T T T T T T T T T T T T T T T T 7 T T T T T T
rm354 RMS 5.86
MAD 5.22
L | L L L L | L L L L | L L L
0.013 0.014 0.015
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
o, 134 3473 prior 225 km/s 680(170) X2m,n / 4589 = 0.3165
T T T T I T T T I T T T T I T T T T I T T T T I T T T T I T T T I T T T I T T T
i rm354 RMS 29.8 ]
B MAD 20.4 ]
0 500 1000 1500 2000 2500 3000 3500 4000



